! Direction : Answer the Jollowing questions by selecting the correct/most appropriate options.

fder . FEafaRaa gv & Sy 3 & forg Wl WA Iuga faden 9

62.

63.

~ (A)  hormone regulater Carbohydrate, protein and fat metabolism in our body. It is secreted
by __(B)  gland and __(©)  inour diet impacts the functioning of this gland. -
(A), (B), (©) tespectively are :
(1) Thyroxine, Thyroid, lodine (2) Growth hormone, Pitutary, Proteins
(3)  Insulin, Pancreas, Sugar (4) Adrenaline, Adrenal, Salts

—8) oW R IR e, e aun o s a frif w diaw  (B)  afEgm
mﬁaﬁm%awmﬁaﬂsﬂﬁ_gﬂwﬁu%waﬁgmﬁam%

(A), (B), (C) shawm: & :

(1) uradfem, aRdee, sEEs 2) ofge g, oy, wEE

() FHE, s, e (4) Ufeem, ofgTe (sifegesn), wam

W]S-ltjch c;f the following statements is/are true regarding the function of bile juice in human digestive
System ¢

(A) It makes the partly 'digested food coming from stomach alkaline. :

(B) It helps in digestion of fats. ¥ '

(1) Both (A) and (B) are true (2) Both (A) and (B) are false

(3) (A)is true and (B) is false (4)  (A) is false and (B) is true

HAE T F i @ % e % gy H fetaten § 4 9 /@ e ad i

(A) I AWRE ¥ 3 g SARTE §9 Y T WISH H A o 3w E

(B) ¥E aH & UraA B TRl i ¢ |

(1) (A) 3R (B) i wet & (2) - (A) 3T (B) i Tera &

() (A) T 2 (B) o ¥ (4) (A) T € 71 (B) W
The density of medium A is more than medium B but less than medium C. In which medium does
the sound travels fastest ? ;
(15 (2) Can’t be inferred from this information
3) A 4 B :

eI A F1 A B % @ 9 3fue € foeg Temm C % o @ 9 ¥ ) R wemm o it uel ¥ i
FH 7

1) (2) 39 o @ fred @ fraren s
3) A 4) B
P=XT 24 - 5y Y G
")
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64. § A
4 ;\lf}uch of the following statements is correct ?

The normal temperature o
S2: Heat flows from a bod
(1) S is observation and

f the human body is 37°C.

¥ ata higher temperature to a body at lower temperature.
i 52 is inference
(2)  Slis inference and 2 is observation

(3)  Both S1 and S2 are observation
(4)  Both S1 and S2 are inferences
Frefafas § @ wH-w1 s wd 2

S1: WIS IR 1§ aem 37+C ¥

S2: mwmmﬁg@_ﬁﬁwmﬁﬁﬁmmﬁﬁl
(1) S1 sl (dawr) & qen S2 o 3

(2) S1 3TIHM ¥ T S2 e (Yeor) B
(3) S1 3R S2 I st (Raq) ¥
(4) S1 3R S22 EE &1

65. While ice melts at 0°C, its temperature :

(1) remains same (2) first decreases and then remains same
(3) increases (4) decreases

& 7% (fe9) 0°C R fa=erd € o U a9a :

(1) TEAEAE (2) e Fed ¢ 3R R weE wa

3) @ea® (4) wemE

66. Which of the following strategies would support inquiry oriented science teaching ?
(1) Engaging students in floating and sinking activities
(2) Explaining the difference between real and apparent weight
(3) Define and explain Archimede’s principle
(4) Demonstrating the loss in weight of an object when immersed in water

Freafafaa § 4 1 9 R sire-ved 3a far fueo 1 g w2
(1) faenfdi &1 #73 vd geA @ Faifea nfafafedl & Hfem (rmer) W
(2) awafa E st ¥R % i S e

(3) ot fgeia 1 aftd g S H

(4) aaifgaﬁmfar@a@ﬁ;ﬂﬂﬂﬁﬁmﬁfﬂm

G
Tl LU e
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68.

69.

PRI 7

Complete the fnllowing table :

Atomic m_l_l_“bcr Mass number | No. of electrons | No. of protons | No. of neutrons
- '__“'—'_"‘_"—-—--—u_.__._______, e -iip—

9 A B C 10
D 24 B 12 i
A, B,C,D,E,F respectively are ;

( ;) ‘1),910, 9, 24,12, 12 2y, 9,9, 10,24,12, 12
(3) » 10, 9,12, 12, 12 @)9¢ 19,9,9 12, 12,12
Fefefes anoft 5 g Hifa

T WS | o o | gome ) woat | W i derr 2 i dear
9 A B C 10
D 24 E 12 5

A:B;C:D,E,Fm:%:

(1) 9,10,9, 24, 12, 12 (2) 9,9, 10,24, 12, 12
3) 19,10, 9,12, 12, 12 4) 19,9,9 12,12, 12

Which of the following stateme i

(A) Compounds slm%v the ?r§;:r§§s%?tcg::tiﬁge?:l ;Egsi::cl:};:unds ?

(B)  Only elements can react to form compounds.

(C)  The composition of each compound is always fixed.

(D) Compounds can be separated by physical and chemical methods, :
() _A)E.0 @ (A)© D, 3 (A)®)© @)  (B) (O, (D) ‘
ﬁmﬁhf@aﬂﬁaﬁqﬁwﬁﬁa%ﬁﬁul.ﬁuﬁﬂﬁ%?

(A)  fiTeh Hereer wrelf % 1ol o1 < ¥

(B) Wmﬁﬁﬁwmﬁ%mmmmﬁl

(©) woIs Aifiten 1 T e feer (fafvsm) 2 2

(D) ifirehi =1 “iifaer vel Tt faferl g & ges farn s w3

M @A)®.0 @ @O MO @ @Ae. O @ @) @C, D

Assertion (A) : Convex mirrors are used as rearview-mirrors in vehicles.
Reason (R1):  They form erect and enlarged image.

Reason (R2):  They have wider field of view.

(1) (A) is true and only (R2) is correct explanation for (A).

(2) (A) is true but neither (R1) nor (R2) are correct explanation for (A).
(3) (A) is true and both (R1) and (R2) are correct explanations for (A).
(4) (A) is true and only (R1) is correct explanation for (A).

A (A): G (3T) IO ST A H wEeyA-gau (fereg- ) ¥ w0 o
@ (R1) : q A v feafida wfafaa o €1

& (R2) : I7eh1 AT iU B el

(1) (A)HEl & 91 %aa (R2) & (A) i Wl = €| !

(2) (A)Eﬁ%ﬁ(m)aﬂ’(mﬂﬁﬁ(A)ﬁF‘@E‘JT@HE?ﬁ%I

(3)  (A)Hél & a9l (R1) 31 (R2) 3 (A) % fe & e € |

(4)  (A) @@ & a4 Faa (R1) & (A) I HE =A0eA g
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70.  Assertion (A) :

throme 1S used asa heabng Element in devices like electric Lo« yster

geyﬂer ‘1.
Reason (R) : Nichrome has high melting point andlow resistivity.
(1)  (A) is true and (R) is false \

(2)  Both (A) and (R) are false

(3)  Both (A) and (R) are true and (R) is correct e'xplﬁnation for (A)
(4)  Both (A) and (R) are true but (R) is not correct explanation for (A)
Hfirrer (A) : T8 1 Wi ferpa-2neen i foepm viow 39 5 & are e & 9 H @A ¥

T (R) : M 1 351 e i et wiiea 2
(1)  (A) @&t & 791 (R) 7Tera 3

(2) (A)#(R) =i Tem ¥

(3)  (A) 3 (R) 2 W& & aem (R), (A) #1 = = §

(4)  (A) 3R (R) 3 T & 9 (R), (A) 1wt = 9

71. Children of all age groups have various ideas which may be different from science concepts. Which

of the following statements are true regarding these ideas ?
(A) These ideas are usually stable

(B) They are formed due to observable phenomenon

(C) They tend to follow similar developmental pattern

(D) They are easy to modify

(E) They are often domain specific

(1) (A) (B), (©) (D) (2) (A), (B), (C), (E)
®) (A (B) (©) (4) (B), (©), (D)

quft a1y A % sl ) fafve gRoTd @ ¥ st famm smEmnsd | fim @ wwd € ) frefatas § @@

Waﬁtuaﬂﬁaﬁ?ﬂa?mﬂﬁ%?

(A) ¥ YROME HHT: oo 2 &1

(B) aﬁm(aﬂﬁﬁq)qﬁmﬁ%mm%
(C) 3 T forehraTcH Wed 1 9rer et © |
(D) I TRel § GREfdq {1 ST Hebell & |

(B) A wra: yera-& (Sr) fafe 2t €1

1) (A) ®) ©) O ) (&) (B), (©) (E)
3) (A ®) © 4 @) © D)
P (I LAY 27
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72.

73.

74.

Assertm(l;{ )(A) : Ff;}iteries have thick and elastic walls as compared to veins.
Reason : € pressure of blood flow in arte ies is | L
L e ries 1s low as compared to veins.
(2)  Both (A) and (R) are false.

(ii g:g1 (:) and (R) are true and (R) is correct explanation for (A).

( " (A) and (R) are true but (R) is not correct explanation for (A).

;ﬁ":‘?‘f(ﬂh z}mniﬁmﬁﬂqﬁﬁfﬂﬁﬁémmﬁiﬁﬁﬁ%l
: aﬂmﬁmﬁa‘fﬁwmm

(1) (A) 9@ & 791 (R) e 3 = e

(2 (A) 3R (R) 35 e & Y

3) (A)*(R)aﬁua‘éwm),mﬁuﬁw%l

(4) (A)W(R)ﬁué%m(m,wﬁwwqﬁ%

Which of the following statements are true ?

(A) Crystallisation is 4 chemical change.

(B) Photosynthesis is a chemical change.

(C) Ripening of fruit is a physical change.

Eg) Formation of curd from milk is a chemical change.
B)and (@ @ ©and® ) (A) and (@

ﬁﬁfﬁf@aﬁ#ﬁq—ﬁmuﬁ%? —( Ml S

(A) Treem (freefem) o wmrte e 21

(B) THVI-HYIN T T wRad ¥ ‘

(C) +d F1 o U Hifgs ufigdy T

(D) 39 8 & o T Tt wied ¥ &

(1) (B)3R(Q) @ ©|D B @B @ @O

When a ray of light enters from medium A to medium B, its speed decreases and on further entering

into medium C, its speed increases.
Which of the following conclusions can be drawn from this ?

(I)  Refractive index of A and C are less than B
(2)  Refractive index of A, B, C cannot be compared from above information

(3) Refractive index of A is more than B and C
(4) Refractive index of A is less than B but equal to C
ST YA T fhT01 A1 A | HoAH B W Yo il © O SHhT 9 () Sedt ¥ 3 s mem C

Y] A I 3T A1 () dedt € _
779 frefafaa 9 | & a1 frswd e S a2
(1) AR C% AYacis BY FH €
(2) A, B,C @& 39ad-ie it qor ST Ge1 oh SR T Tl il T Gehell €
(3) A qadiE B #T C A sifirek €
(4) Al 3qadis B FH € Tq C & G9H ©
C

el LT a8
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75. Th i
e buoyant force on an object immersed in liquid acts in ;

(1)  All direction

(2)  Parallel to liquid surface
(3) Upward direction

(4)  Downward direction

mﬁ@('*’“ﬁﬁﬂ)ﬁwﬂtwwww%:
(1) =it fewnefi §

() e fem §

(2) T HIE 9 FHIGL

(4). s fewm §

#Which of the following statements is/are true regarding relative reactivity of metals ?

(A) Zinc is more reactive than Iron but less reactive than Aluminium.

(B) Sodium is more reactive than Potassium and Calcium.

(©)  Aluminium is more reactive than Magnesium.

(1)  (B) and (C) (2) Only (C) (3) (A) and (B) (4) Only (A)
H@aﬂaﬁaﬂfwmﬁmwﬂam%ﬁﬁuﬁﬁmﬁaﬁwﬁ@ﬂqmmwa@%ﬁ?
(A) N« (5%), e & sifus sifufrmsie & W Taffem 3 5 srheemie 2|
(B) Hifezm, Wreform it SHfeaam @ sifus sfuframdia 31

(©) TefHfrm, Frifem @ sifus sfafransie £

(1) (B) 3R (O 2 ®FE(Q) @) (A)3REB) (4) e (A)

77.  Which of the following have the most scope for promoting Art integrated learning in Science ?

(1) Anecdotal records, Journal writing
(2) Journal writing, Field trips

(3) Portfolios, Anecdotal records
(4) Projects, Portfolios

T o el T AT F A 23 F1 o fret # 4 frg e s 12
(1) SIFAFRES Joi@i, SiHel oiad gl

(2) e wEd, & 990 g

(3) HrEIfcrdl, YA Y@l grl

(4) grErsEE (afEsEE), e s

P | VA0 A < v
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78.

79.

(A)  is a technique of Vegetative propagation in which a part of the stem or a young branch
of a plant is pulled and buried in moist soil, such that the branch is still attached to the Parent

Plant. After some time, roots develop in the buried part and it grows into a new plant. L‘_’l__
is an example of plant usually grown through this technique.

(A) and (B) respectively are :

(1)  Budding, Hydra “2)
(3) Cutting, Potato (4)

Layering, Jasmine
Grafting, Rose

1)  TFem, T 2) T, T
@) e, 3Ty ) 9o, Tt

Read the following statements in the context of Laws and theories in Science
S1: Laws are generalisation statement whereas theories are explanations.
S2: Laws are very old and theorics are contemporary.

S3: Laws can't be changed whereas theories are subject to change.

(1) S1 and S3 are true whereas 2 is false

(2) SB is true whereas S1 and S2 are false

(3) Sl is true; S2 and S3 are false

(4) Sl and 82 are true whereas S3 is false

forr 1 Foeell el firezie 3 ieed & Pt ol 1 ofew -
S1: fom Q=i o & st e e # )

52 ; ﬁwa@w%@?ﬁmmﬁqﬁl

S3: fom wiet R W W ¥ et farein wiad ¥ o ¥
(1) Sl 3R 33 Wl § SMfeh S2 Terq &

(2) S3E § el S1 RS2 e ¥

(3) S1WE ;52 iR S3 Tera §

(4)  S1 3R S2 §et & st S3 rerq ¥

| 11T 7T 30
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80. Assertion (A) : Achievement in STE
Reason (R) : Problem solving str
(1) (A) is true and (R) is false.

Ez) Both (A) and (R) are false,
3) Both (A) and (R) are true and (R) ; i
(R) is correct explanation of (A).
(4)  Both (A) and (R) are true but (R) is not correct explanation of (A).
i) (A) : STEM(@q)ﬁ%ﬂWﬁm%(ﬁm)mWﬁHﬁ%'
(R) : E@@WWW&%H@WWWW%%%I
(1) (A) ¥ & 9o (R) 7T &
@) (A) 3R (R) B o7 ¥
() (A) 3R (R) < W& & wen (R), (A) 5 vt e &
(@) (A) 3R (R) < 40 % e (R), () e o o 2

M related courses is influenced by gender.
ategies used by boys and girls are different.

81.  Which of the following statements are true in the context of respiration in whales and
dolphins ?
(A) They cannot use dissolved Oxygen.
(B) They have gills.
(C) They have large nostrils.
(D) They often come up to the water surface to breathe,
1) (®) (©), D) 2 (&), ®) O (@) (AB. Q) @ (A)(«©), D
Frefafad & & # § For =a i <ifedm § voem % Hey § 98 7
(A) @ foefia sieisT %1 swdm 7@ 2 g ¥
(B) S U firay (Fim) 2 €
(C) 7% I J&q AHIGR BId & |
(D) & WE: SId-98 T YA o & T e €
1) B0 @ A6.0 @ @“E,0 @ @A) ©, D)

82. Which of the following questions is a divergent question ?
(1) How does gravity vary with the altitude 2
(2) What would happen to gravity if the size of earth is reduced to half ?
(3) Why does a ball thrown up comes down ?
(4) What if there was no gravity on the earth ?

=1 4 9 17 9 997 799 € 2

(1) FH S & Y Tod (TEATHRY) &G S ¢ 2
) wq@aﬁmﬁmmﬁmma’rw (&Y Y Fifad 2 2

(3) i TR H R FF T e A S 2
(4) 1 T R geat T HIE o (TEETRT) Tl Bl ?

P-IT (IO 31 G
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Hi

(N
(2)

(1) Observation, Formulating hypothesis, Measuring
() Observation, Classification, Inferring
wl VI ¥ Freafafaa wfafafy w8

M_mf‘ehﬁEﬁm@sézﬁqmﬁmﬁﬁaé@ﬁm%ﬁé@ﬁwaﬁwmﬁmmﬂmw
afafaty & wem § fefafaa § ¥ 9 3 ufrn S 5 Srearted fHar o g ¥ 2

(1)
(2)
(3)
(4)

I'he following activity is done in the class VII : :
Students are given four iron bars out of which two are bar magnets. They are aslfed to l.dentify the
bar magnets. Which of the following process skills can be promoted through this activity ?

Observation, Classification, Communication, Measurement
Observation, Estimation, Experimentation, Controlling variables.

o

Q0T ( STEEEA ), SfieRo, Tor (=), 1
VT (SEEAIF), A, TR, R ot w5
QO (STFEHA ), TG T, J

el (STaEA), aftenor, ey e

84.  Which of the following represents co}fépt matching set in the context of aquatic plants ?

(a)
(b)
(c)

(d)
(1)
(2)
(3)
(4)

(a)
(b)
(¢ )

(d)
(1)
(2)
(3)
(4)

Adaptation Purpose

Large circular leaves (i) . helpful in protecting against decay

Waxy coating (ii) "_'lielpful in offering resistance to water currents
Stems have large tunnels  (iii) helpful in providing buoyancy

and holes

Ribbon like leaves (iv) _'Iielpful in staying afloat

(a) - (i), (b) - (), (c) - (i), (d) - ()
(a) - (iii), (b) - (i), (¢) - (), (d) - (@)
(a) - (iti), (b) - (iv), () - (i), (d) - (@)
(a) - (1), (b) - (iii), (c) - (i), (d) - (iv)

frefafaa § | F19 9 Soiy gl () & Hel J of gher g & el s 2

Jed gurd qoi (i) &9 ¥ guEE o §

At 2780 (i) et Trel | wfedy (Jar) WA o ©
741 (&) ¥ geq (iti) ST TS Bt €

#iif A faz B €

wia (fram) 18 oof (iv) o (RQ) @ H e el ©

(a) - (i), (b) - (iv), (€) - i), (d) - ()
(@) - i), (b) - (), (€) - (iv), (d) - (i)
(@) - i), (b) - (i), (©) - (i), (d) - ()
(@) - (ii), (b) - (i), (©) - (i), (d) - (iv)

s T 32
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LA

8o,

I W

Nl= 8a )
- ::‘ Potination can take place anly in bisexual lowers.
“-‘ = “.l‘t‘ml\alhlm Can take place only in Unisexual flowers,
» .“ s lrue nmllm i falue (2) S04 false and 52 is true
t oth 81 and 852 are trae (1) Both 51 and 52 are false
ST RO et (fetd el Corelt o 6 e &
S TN e (el el gty o @) e # )
(1) S1ad ] aws2 e & (2) S0 & a2 wél #
(3) 5190 s2 Qe wd ¥ () 1 9l 62 At mer #
On the basts of the following information identify the substances which give flame on burning :
;‘-iul\sl ance .Sln te V[‘lpt‘llll'l-'_i-ﬂ:;l";;lrllill-‘ll;ill}:,_ i
A Solid No
B Liquid Yes
= Solid Yes
D Liquid No
“) B and C (2) G and D (‘1) A nnd D (4) A and B

frfirfiara S  snwr S wal W) e Hif s S T Sl 9 € :

——————————————

e s | SR A S
B ol () @
& A |
D wE () gLl
(1) B3iRC ) C3MD 3) ASRD (4) ASWB

Which of the following statements is/are true regarding nature of science ?
(A) Scientific ideas are not affected by cultural context,
(B) There is no single scientific method.
(1) (A) is false and (B) is true (2) Both (A) and (B) are false
(3) Both (A) and (B) are true (4)  (A)is true and (B) is false
foeferfaa o @ mm/ﬁwﬁaﬁmﬁwﬁﬁaﬁﬂnﬁ%/%?
(A) s ferere it e gva wefer il €
(B) ¢ wee Amtn faf (vaf) R
(1) (A)wtsﬂt(a)aﬁt (2)  (A) 3t (B) 3 e ¥
(3)  (A) 3 (B) 3 Wl & @) (A) W & sl (B) o §

33
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(A) Sunita takes 0.5 g of Sodium Carbonate in a test-tube and adds 5 ml of Dilute Hydrochlogj

88.
acid.
(lf) : Sh{‘ passes the‘ $as produced in the above reaction through Lime water.
::")h""z ;’)’ ‘I;\‘;]ﬁ“ég‘":gHrgfres?ts the chemical reactions taking place in (A) and (B) ?
£ - [ " . Cl L o H-JO 3 CO
~ (B)- Ca(OH);-l- €O, 4 (:aa(:o1 + H,0 i
(2) (A)- NaHCO, + HCl — NaC] + H,0 + CO,
 (B)-CaCO, + H,0 + CO, — Ca(HCO,),
(3) (A) - NayCO, + 2HCI — 2NaCl + H,0 + CO,
(B) - CaCO, + H,0 + O, - CaHCO,),
(4)  (A) - NayCO, + 3HCI — INaCl'+ H,0 + CO,
(B) - Ca(OH), + CO, - CaCO, + H,0
Wil 3
(A) it ‘;’@-‘E‘ﬁ (F-23) § 0.5 T ifean iz e 2 fire 308 5 o, T TRGIFANE o7
STeTe ¥ |
(B) mmmﬁmﬂ‘qﬁqﬁ%mﬁr%wﬁw%n
PRI 5 & B () % () ¥ 1 v wamafer vt 31 Frefi a1 32
(1) (A) - NaHCO, + HCI — NaCl + H,0 + CO,
(B) - Ca(OH), + CO, — CaCO, + H,0
(2)  (A) - NaHCO, + HCl —» NaCl +H;0 + CO,
(B) - CaCO, + H,0O + CO, — Ca(ﬂcoa)z
(3)  (A) - Na,CO, + 2HCI — 2NaCl + H,0 + CO,
(B) - CaCO; + H,0O + CO, — Ca(H 05),
(4)  (A) - Na,CO,4 + 2HCI — 2NaCl + H,0 + Gy
(B) - Ca(OH), + CO, — CaCOy + H,0 ‘
89.  Which of the following statements is true ? :
(1)  Soil with low water holding capacity has poor aeration and low percolation rate.
(2) 5011 with low water holding capacity has good aeration and high percolation rate.
(3) 5011 w?th low water holding capacity has poor aeration and high percolation rate.
(4)  Soil with low water holding capacity has good aeration and low percolation rate.
Frefafaa & | 29 1 woe ad 22
(1) 1991 Siei- ek &/9a1 sl Te1 1 FHSI a6 811 & qen F= Sfe:5e o8 2t 31
(2) 17 STe1- S 47T AT Ye1 I S L ¢ A I S HA A ¥
(3) T ST 4R &7Ha ATel o1 1 FHSIR de Sl S U S oI eE ¥ A
(4) T STc1-9mer & aTelt a1 13U S ol © qdn T st-sam < e ¥
90.  Which of the following should not be the purpose of open book assessment in Science ?
(1) To score more marks in tests
(2) To give opportunity to explore the book
(3) To reduce the fear of assessment in learners
(4) To gauge conceptual understanding of learners
frre=rfeafaa & & #1 @1 famm o gel gees e 1 S 78 e =eu 2
(1) whenaAl | Afes i e
(2) Y& & AAUY &% HAGL YEH FHLAT
(3) AfeHeRdisl | AEFET F 99 R FH HE
(4)  oiferTHeRdisl <l SRS G0 ) T
) T
el T T 34
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